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2"! Fundamental Theorem of Calculus: Multiple-Choice Practice
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2" Fundamental Theorem of Calculus: Free-Response Practice

No calculator is allowed for these problems.
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4. The graph of a differentiable function f on the closed interval [-3,15] is shown in the figure above. The graph

of f has 2 horizontal tangent line at x = 6. Let g(x) = 5+ j: F()dr for =3 < x < 15.
(a) Find g(6), g’(6), and g”(6).
(b) On what intervals is g decreasing? Justify your answer.

(c) On what intervals is the graph of g concave down? Justify your answer.
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